Probability class 0% 166% 333% 50% 666% 833% 100% | Evicont | Nunassigned
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Semorl POD oo \0% 176 48% 399  56% 84% | 80% 22
0 7 JER 1 7 1 21

Sensor2 POD @ 4% 3% 0% s4%  63% 4% | 844 408
0 1 JER) 3 16 1 20

Sensor3 POD (0 3% 366 399 504 9% 4% | 804 340
0 3 56 8 [P 15

Sensord POD @ g% 149 27% 3% 46% 9% | 604 15
0 16 o9 15 u B 21

Semsor3 POD g 4% 314 399 S84 2%  68% | 849 157
0 7 B 5 10 B 18

Sensor6 POD @ g% 364 2% 9% 2% 9% | 724 597
0 7 1“1 JE; 7 1 21

Sensor7 POD (0 43% 306 a4a S84 63% 4% | 844 653




